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Subject Name: Linear Electronic Circuits
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Instructions:

Q.1

Q.2
TEE

I

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. €2(Hill SlEURL Alctotl ellol AL
Define: OP-AMP.
c(uAL AHUL: OP-AMP.

Define: CMRR.
(AL AHUU: CMRR.
Draw pin diagram of 1C 741 op-amp.

IC 741 oll Ulot StAUH ENRL,

List open loop configuration of op-amp.
AU AU ofl AUt U AR UL of {122 vlottll.
Define input resistance of an op-amp.

AU WY ol ol ye 082ert ofl cautvul .
Draw circuit for AC amplifier with single supply.
Rotet At A& olt AR ArcllsiauR ol qR8le €.
Draw block diagram of Op-Amp.

AU AU ol 6Als SIRAULH ENRL.

Define: input offset voltage.

UL AU Bolye s A,

Define: SVRR.

(AL AU SVRR.

State two advantages of 1Cs over discrete circuits.
AL o1l (S2sle AR5l ofl AAet 1l A slAEL AU

© O 06 N o £ 00X MWD LR

S B e

(@) Draw block diagram of voltage series and voltage shunt feedback amplifier.

@) Ay A3 wa AR 22 SlsAs AellglaR oll sclls stuoUH RN,

OR
(a) List the advantages and disadvantages of monolithic ICs.

) Holcldls UL olt $L2LEL Al NRFLRAEL AL
(b)  Draw circuit of current to voltage converter.

(@) 522 Yl ARy saé ol usle €l
OR
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Draw circuit diagram of Differential amplifier with two op-amp.

A UV A ol B g2l WncllglaR ol wsle €L

Derive equation for the closed loop voltage gain of voltage shunt feedback
amplifier.

Ao 22 (5sas WrAlSI2AR oll SAABS YU AR Neat HIS of Yo

ARl

OR
Derive equation for the closed loop voltage gain of negative voltage series
feedback amplifier.

AdElel e @3 (3sals AcllslauR oll SABS U AEos Aot HIR
o Yo ARl

Classify ICs according to Packages and Temperature Range.
WAL otl W W AlUHLoL oll 398 otl WUR Aof o501 53A.

OR
For the op-amp supply voltage rejection ratio SVRR is 90uV/V. Calculate
the change in this op-amp’s offset voltage if the supply changes from £10V
to £12V.

AU AU 1 SVRR A 90pV/V 8. AUARY oll A gA2 e 1Rl sl
Aoll Al £10V Ul +12V HEALY,

For closed loop differential amplifier with one op-amp having R1=R2= 1kQ
and Rf = R3= 10KQ. Calculate the output voltage if Vx =4.1V and
Vy=4.3V

A s AU AU U oll 5A3S QU ARALS12AR Ui R1=R2= 1kQ Aol Rf =

R3= 10KQ. % Vx = 4.1V 4l Vy=4.3V &l dl 2G2y2 cllce el

OR
For the inverting amplifier with single positive supply draw circuit having
Rin=50Q, R1=10KQ, R2 = R3 = Rf = 100K, input voltage is 200mV peak
sine wave at 1kHz, Supply Voltage +15V.

Rotcdt WD wretta cton Sadlol AellslaR ol usle €1 ¥ Bui
Rin=50Q, R1=10KQ, R2 = R3 = Rf = 100KQ, 8aiyye 2% 200mV Uls
ABAA 1kHz, A A2l e +15V.

Draw circuit diagram of Differential amplifier with one op-amp.

A5 ANUBY AU ol (Sg290lauct LcllsiauR ol ursle €12l

OR
Draw and derive the equation of averaging amplifier.

AR ARElglaR ofl ARSle €131 Ao Yot Al

For the closed loop non inverting amplifier draw circuit and compute the
output voltage Vo if Vin=100mV PP sine wave at 1IKHz. Assume:
R1=670Q, Rf=6.7KQ, supply voltage=+15V, maximum output voltage
swing=+13V.

sAls GU ollot Sctdlol ArellsiaR ol wSle 1R ua By dle
Vo 20t %1 Vin=100mV PP dl8etdcl 1KHz &lal. R1=670Q, Rf=6.7KQ,
Al A Rx=+15V, HetH % RAoL =+13V.
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OR

(c) Prove that inverting terminal at virtual ground for voltage shunt feedback 04
amplifier.
(5) Al e 3sas Ancllsiar 12 sadlol 2H{lotcd A aRjUd UGS slau 0¥
aq AAd 3.
(d)  What are differential gain and common-mode gain of a differential 04
amplifier?
(5) Bse0act Arcllglar i ($g2a0laict Aot Wal Sliet Hls Neet 9 B2 0¥
OR
(d)  Explain the operation of op-amp as Subtractor and find out output 04
expression.
(5)  AAL5SR d3F BlU AU of 511 AU Bl Aoll WG Y2 of Y2 0¥
And.
Q.4 () Draw and derive the equation of summing amplifier. 03
ws ¥y () Al alnclsiar €3l dqg Yo Aadl. 03
OR
(@) Differentiate between AC and DC amplifier. 03
(AU) AC Ual DC ANAlgI2AR cRA ol dslelcd Ul 03
(b)  Draw circuit of zero crossing detector. 04
() B32A s1{loL sl2se2 ol uzsle 13l 0¥
OR
(b)  Give principle of operation of successive Approximation type ADC. 04
(@)  UsAAa AYs{INaet 218U ADC ol stlsi3l Rt . 0¥
(c) Draw and derive the equation of integrator. 07
(5) 6332 13l A Yo Al 09
Q.5 (@) Draw circuit of differentiator. 04
ysu o ) (S50 ol uRdle €L 0¥
(b)  What is the need for an instrumentation amplifier? 04
(0)  BorgHZAst AncllsiaR ofl %32 ¢ B? 0¥
(c) What are the main advantages of integrating type ADCs? 03
(5) 632l 28U ADC ol Hud SIAEL Sl &2 03
(d) Give limitations of op-amp as comparator. 03
(s) U A ol 510222 313 ofl Halel weual. 03
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